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5
WORKSHEET ON SINGLE & D EPLACEMEN N

Predict the products. Write formulas, l If there is no reaction, then just put NO RXN.‘l

Single Replacement: A +BC—» B+ AC or A+BC—>C+ BA {when A and C are negative ions)

N e o h LN

Zinc + Hydrogen chloride 9“9 & ’Z_V.\C'/\ 5
Maognesium + Hydrogen Sulfate = M SO‘I' A Hoy
Copper {li) chloride + Flourine = Cu v 3 + d -
Silver + Sodium Hydroxide > N g €y A

Potassium iodide + Bromine > KQ¢ +T o

Calcium + Hydrogen hydroxide = Cio uja. + 1 =9
Iron IV oxide + Hydrogen = Fﬁ, - \'\gc

Double Replacemeni: AB + CD > AD + CB

1.

N o e WL

Barium chloride + Aluminum sulfate > (4 C\SCL{ 1+ MNCt 2

Calcium nitride + water = Cﬂ\( 0 ‘.ﬁ) y W .\}0-5
Coalcium hydroxide + Hydrogen phosphate => CCL (-PU‘-;“)D 4 H-;U

+ “-'“ b SU*[
Calcium hydroxide + Ammonium chloride = qu 5 * Na\{ Oit+
Potassium iodide + Lead il Nitrate > |£ ND':, . \9‘019,

+ Cald '
Sodium acetate + Calcium sulfide 2 || AQ.S e Ca.CC,; U‘B O:}j <

Hydrogen sulfate + Sodium hydrogen carbonate 2" H. (o

Complete each word equation, write formulas . Then idenﬁand I;(:I:: e the
reaction (singte replacement or double replacement) in the blank provided. suve 4o o Si

5@ 18.

[+ ]
+ 5
. Zn ("UOS)Z_ placemen reachon uli

Zinc + Silver nitrate —» , O¢te L.

Aluminum + Hydrogen chloride = A\ C’i‘) + \4} .

Magnesium oxalate + Ammonium carbonate — Mq C'G?, — Q\J\‘\g-‘CgOH
Calcium + Aluminum nitrate =2 Cll (A U’D;, +« Al R &

Potassium flouride + Lead {ll} Nitrate = A} 02, + b p=

Calcium bromide + Silver nitrate —)Ca (N0 "'372, o ,v'-\-c-»)?("a .
Ammonium phosphate + Barium acetate -)N\-\(t\ Ce \'}3 6, % £ QDCLD?—-
Sodlum chloride + Potassium — [\Ja vEC|

. Magnesium nitrate + ammonium chloride —» ,U\Ga/ O P Nty UO3

i - —
. Iron ({l1) chlorate + calcivm — CQ (C f 6332_ 4 Y€
. Chlorine + Sodium bromide —» Naci + g‘(;g_,

Potasslum chloride + Silver nitrate = L/\}, _ = ASC'\

Calcium hydroxide + Hydrogen nitrate = (7 ( Koy, + A 50
Lead Il nitrate + Potassium chloride - Plr) Clgy ¥ YN (_)-Sv

Strontium corbonate + Hydrogen nitrate =2 H,?/CQ 2 ¥ Sr (- /\JOQ;

. Gold + Potassiuvm nitrate = M 0 Ceacty o
. Zinc + Silver nitrate =2 \\\lt)’-r\,?, v

Aluminum + Copper Il sulfate = - N

24 QUU\\‘,I * Lin



